L

(3x10)+ (2 x100)+ 4 =

b

(4 x 100) + (8 x 10) + 5 =

(7 x10) + (1 x 100) + 1 =

b

(9x100)+(3x10)+9-=

(2 x 10) + (3 x 100) + 7 =

(6 x 100) + (7 x 10) + 2 =

il

(4 x10) + (7 x 100) + 8 =

b

(8 x100)+ (4 x10)+ 1=

b

(6 x10)+ (b x100) + 2 =

b

(2x100)+(2x10)+7 =




485

939

672

841

227

234

171

327

748

562



L

8+ (4 x10)+ (1 x100)=

b

(9 x 100) + (1 x 10) =

4 + (3 x10) + (8 x 100) =

b

9 + (4 x 100) + (5 x 10) =

2 + (7 x 10) + (3 x 100) =

5+ (7 x100) + (3 x 10) =

il

6+ (5 x10)+ (9 x 100) =

b

9 + (2 x 100) + (1 x 10) =

b

(2 x 10) + (6 x 100) =

b

7+ (5x100) + (6 x 10) =




910

459

735

219

567

148

834

372

956

620



L

(1x10)+6+ (4 x100) =

b

(7 x 100) + 2 + (1 x 10) =

8 + (5 x 100) =

b

(1 x 100) + 5 + (6 x 10) =

(4 x 10) + 1+ (9 x 100) =

(8 x 100) + 9 + (7 x 10) =

il

(5bx10)+7 + (2 x100) =

b

(5 x 100) + 2 + (4 x 10) =

b

(3x10)+7 + (6 x100) =

b

(3 x 100) + 3 + (4 x 10) =




712

165

879

D42

343

416

508

941

297

637



L

(8 x 10) + 6 + (4 x 100) =

b

1+(2x100)+ (8 x10) =

(6 x 10) + 3 + (7 x 100) =

b

8 + (6 x 100) + (4 x 10) =

(2 x 10) + 2 + (1 x 100) =

4 + (3 x 100) + (9 x 10) =

il

(8 x 100) + 7 + (2 x 10) =

b

(7 x 10) + (8 x 100) =

b

(6 x 100) + 3+ (7 x 10) =

b

1+ (9 x 100) =




281

648

394

870

901

486

763

122

827

673



